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Merit exemplar for 91223 2015 Total score 16 

Q 
Grade 

score 
Annotation 

1 M5 

This candidate has received an M5 grade because they have: 

• given a detailed explanation (with minor errors) of how the dairy industry / 
farmer is worse off from a lower world demand for dairy products, including 
the idea that they are worse off because the lower world price (Pw to Pw’) 
will result in dairy farmers receiving lower income/revenue/profits from dairy 
production. 

Including a reference to the decrease in Qs and X from Graph One and 
combining the idea of lower prices as why dairy farmers are worse off would 
have resulted in M6.  

In addition, making a detailed explanation of the impact of falling dairy prices on 
NZ’s Current Account deficit combined with integrating the source material into 
the detailed explanation would have resulted in E8. 

2 M6 

This candidate has received an M6 grade because they have: 

• given a valid detailed explanation of the impact of decreasing demand for 
New Zealand dairy exports, including reference to Graph Two including the 
idea that lower demand for New Zealand dairy exports will mean foreign 
firms will now want to convert less foreign currency into New Zealand dollars 
and, therefore, will demand fewer $NZ. The demand for the $NZ decreases, 
and as a result, the foreign exchange rate for the $NZ falls. The $NZ 
depreciates. 

• integrated Graph Two (D$NZ to D$NZ’’ and P to P1) into their detailed 
explanations. 

Decreasing S$NZ and/or D$NZ in Graph Three and giving a detailed explanation on 
whether the decreasing demand for dairy exports or the decreasing world price of 
oil would have a greater impact on the exchange rate, integrating the changes 
shown on Graph Three, would have resulted in E8. 

3 M5 

This candidate has received an M5 grade because they have: 

• given a detailed explanation (with minor errors) on why trade occurs 
integrating changes shown in Graph Four, including the idea that the higher 
price of tomatoes (Pw) in Australia  encourages them to increase their 
quantity supplied (QA to QS) and the excess supply in Australia (QDA to 
QSA) will be exported to New Zealand, and that the lower price of tomatoes 
(Pw) in New Zealand encourages them to increase their quantity demanded 
(Qnz to Qd) and the excess demand in New Zealand (QDA to QSA) will be 
imported to New Zealand. 

Giving a detailed explanation of how New Zealand tomato growers are worse off 
AND New Zealand tomato consumers AND NZ fruit and vegetable retailers would 
have been better off, integrating the changes shown in Graph Four would have 
resulted in E8. 

 

 


